
 4
50

,0
 

a

a  300,0 
 900,0 

B

 38,0 

 3
,0

 
 224,0 

 8
0,

0 

 3
2,

0 

 
6,0 

 1
0,

0 

 112,0 

 1
4,

0  4
0,

0 
 2

0,
0 

SECTION a-a
SCALE 1 : 2

Domino 10 mm x 50
or Dowel

Screw 4x 45 mm

Glue PVA D2-D4

linced Oil

 R2
0,0

 

DETAIL B
SCALE 1 : 1

Bench for 2
Materials:

Birch•
Used wood material •

Hardware:
Cross barrel dovel dobbel •
ø10 x 60, M6 x 2 
Connectot bolds flat head •
60 mm M6 x 4
festool domino 10 mm or •
dovel or another x 8
Screw 4 x 45 mm x 4•

Glue
D2-D4 PVA•

Surface
Linced oil•
Soap•
Laquer•
Paint•

Tampere bench
ver. 1

17-10-2023
1 af 2



 900,0 II  300,0 

bb

 642,0 
 50,0  12,0 

 6
5,

0 

 4
17

,0
 

SECTION b-b
SCALE 1 : 2

 
12

,0  35,0 

 12,0  6,0 

 38,0 

 3
8,

0 

SECTION I-I
SCALE 1 : 2

Tampere bench
ver. 1

17-10-2023
2 af 2


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Section View a-a
	Detail View B (1 : 1)
	Drawing View14

	Sheet2
	Drawing View8
	Drawing View9
	Drawing View10
	Section View b-b
	Section View I-I


